Bid-Rent Curve
How does it relate to the Burgess Model?
Bid-rent curve is a graph of the different in land rents payable by different users within distance from the CBD. The Burgess Model is based on the bid rent curve. This states that the concentric circles are based on the amount that people will pay for the land (see the graph below). This value is based on the profits that are obtainable from maintaining a business on that land. The centre of the town, will have the highest number of customers so it is profitable for retail activities. Manufacturing will pay slightly less for the land as they are only interested in the accessibility for workers, 'goods in' and 'goods out'. Residential land use will take the surrounding land.
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A = mainly commercial is located here because ________________________________________
B = mainly industrial is located here because __________________________________________
C = mainly residential is located here because ___________________________________________

On your copy of the graph above add the number to these labels to where you think they fit best. Later in your notebook you must justify your decisions.

	

	

	
	

	
	

	
	



Limitations of Bid Rent Theory:

The bid rent theory, applicable to commercial property rents, emphasizes the desirability of properties close to the center of an urban district, based on the chance of more customers and business activities that can prove profitable there, due to the density of population in central locations during the business hours of the week. 

However, in recent times Internet sales have overtaken store-front operations as a way of selling products to the point where many stores are closing because it's more profitable to do business online. This severely impacts the validity of the bid rent theory which is based on commercial businesses bidding against each other for the highly desirable locations in the center of the city.
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Paula, the manager of a large.
department store, wonders fow busy
she will be today.
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Joe settles down in his cardboard
shelter o keep out the rain.
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Mr Healy, an old-aged pensioner,
catches a bus to town to complain
about his flat being burgled for a third time.
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Bill expertly reverses his heavy
goods vehicle up the narow street to the
Daily News printing works.
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Steve, a farmer, wonders whether
to sell one of his big fields to a
development company.
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Mark sits in a traffic jam on the
ring road again.
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As Raj comes out of the underground train
station he noties the number of shops
advertising new,year sales

Answer: Wichin the shops and gffices sector
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Colonel Scott, retired, starts up his
lawnmower and begins to mow his one-
acre garden.




